Name: ______________________

Period: _________________

Molality Practice #1
molality (m) =   moles of solute

                            kg of solvent
1. What is the molality of a solution that contains 0.500 mol HC2H3O2 in 0.125 kg H2O?

a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Substitute the given information into the molality equation. Write it down in the box below under step c as well.

2. Do the math and solve the problem. Write your answer and unit in the box below under step d.

	Step a
	Step b
	Step c
	Step d

	
	
	
	


2. How many moles of H2SO4 must be dissolved to 2.40 kg H2O to produce a 1.20 m solution? 

a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Substitute the given information into the molality equation. Write it down in the box below under step c as well.

e. Do the math and solve the problem. Write your answer and unit in the box below under step d.

	Step a
	Step b
	Step c
	Step d

	
	
	
	


3. What mass of water is required to dissolve 1.5 moles NaCl to prepare a 1.50 m solution?
a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Substitute the given information into the molality equation. Write it down in the box below under step c as well.

e. Do the math and solve the problem. Write your answer and unit in the box below under step d.

	Step a
	Step b
	Step c
	Step d

	
	
	
	


4. What is the molality of a solution that contains 2.8 moles Al2(SO4)3 in 625 g H2O?   

a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Change the g of H2O into kg by taking the g and dividing by 1000. Write it down in the box below under step d.

e. Substitute the given information into the molality equation. Write it down in the box below under step e.
f. Do the math and solve the problem. Write your answer and unit in the box below under step e.
	Step a
	Step b
	Step c
	Step d
	Step e

	
	
	
	
	


5. What is the molality of a solution with 175 g KNO3 dissolved in 2.25 kg H2O?

a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Change grams of solid into moles. Do this by taking grams and divide by the molar mass (atomic mass of all elements in the chemical formula). Write it down in the box below under step d.

e. Substitute the given information into the molality equation.  Write it down in the box below under step e.
f. Do the math and solve the problem. Write your answer and unit in the box below under step e.
	Step a
	Step b
	Step c
	Step d
	Step e

	
	
	
	
	


6. What is the molality of 245.0 g of H2SO4 dissolved in 1000 g of solution?   

a. What are you being asked to find? Write it down in the box below under step a.

b. What information are you given in the problem? Write it down in the box below under step b.

c. What is the equation to calculate molality? Write it down in the box below under step c.

d. Change grams of solid into moles. Do this by taking grams and divide by the molar mass (atomic mass of all elements in the chemical formula). Write it down in the box below under step d

e. Change the g into kg by taking the g and dividing by 1000. Write it down in the box below under step d.

f. Substitute the given information into the molality equation. Write it down in the box below under step e.
g. Do the math and solve the problem. Write your answer and unit in the box below under step e.
	Step a
	Step b
	Step c
	Step d
	Step e

	
	
	
	
	


